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Turbulent flow introduces significant complexity to
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Find the Darcy fiction factor for a

flow with a Reynolds number of 5000
in a 1cm diameter cast iron pipe
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Example A pump produces a constant flowrate of
0.4 m3 s in the closed loopsham below which is
used in experimental characterization of scaleddown
model naval vehicles The pipes are all In
in diameter and made of concretewith a equivala
roughness of 2mm Eachof the 90elbows has
a loss coefficient of 0.4 Determine the
power required
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In a 30 story residential building142fthigh 1
diameter

schedule 40 PVC pipesImax operating pressureof

270psi are used The flow rate ofwater in the

pipes are 0.005cts 2.2gallonminute

Determine the maximum length ofpipesthat
can be used if you neglect the minorlosses
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